

**ERROR BOUNDS IN APPROXIMATING THE
RIEMANN-STIELTJES INTEGRAL OF C^{n+1} -CLASS
INTEGRANDS AND NONSMOOTH INTEGRATORS**

S.S. DRAGOMIR^{1,2}, CHARIS HARLEY², AND E. MOMONIAT²

ABSTRACT. In the present paper we investigate the problem of approximating the Riemann-Stieltjes integral $\int_a^b f(\lambda) du(\lambda)$ in the case when the integrand f is $(n+1)$ -time differentiable ($n \geq 0$) and the derivative $f^{(n+1)}$ is continuous on $[a, b]$, while the integrator u is Riemann integrable on $[a, b]$. A priori error bounds for different classes of functions are provided.

1. INTRODUCTION

In order to approximate the Riemann-Stieltjes integral $\int_a^b f(t)du(t)$, where $f, u : [a, b] \rightarrow \mathbb{R}$ are functions for which the above integral exists, S.S. Dragomir established in 2000, see [18], the following integral identity:

$$(1.1) \quad \begin{aligned} & [u(b) - u(a)] f(x) - \int_a^b f(t)du(t) \\ &= \int_a^x [u(t) - u(a)] df(t) + \int_x^b [u(t) - u(b)] df(t), \quad x \in [a, b], \end{aligned}$$

provided that the involved integrals exist. That happens, for instance when one of the functions is continuous and the second is of bounded variation or if one is Lipschitzian and the second is Riemann integrable on the interval $[a, b]$.

We observe that, in the particular case when $u(t) = t$, $t \in [a, b]$, the above identity reduces to the celebrated *Montgomery identity* (see [36, p. 565]) that has been extensively used by many authors in obtaining various *inequalities of Ostrowski type*.

For a comprehensive recent collection of works related to Ostrowski's inequality, see the book [30], the papers [2] – [11], [33], [39], [41] and [43].

It has been shown in [18] that, if $f : [a, b] \rightarrow \mathbb{R}$ is a function of *bounded variation* and $u : [a, b] \rightarrow \mathbb{R}$ is of *r -H-Hölder type*, i.e.,

$$(1.2) \quad |u(x) - u(y)| \leq H|x - y|^r \quad \text{for any } x, y \in [a, b],$$

where $r \in (0, 1]$ and $H > 0$ are given, then

$$(1.3) \quad \left| [u(b) - u(a)] f(x) - \int_a^b f(t) du(t) \right| \\ \leq H \left[(x-a)^r \bigvee_a^x(f) + (b-x)^r \bigvee_x^b(f) \right] \\ \leq H \times \begin{cases} [(x-a)^r + (b-x)^r] \left[\frac{1}{2} \bigvee_a^b(f) + \frac{1}{2} \left| \bigvee_a^x(f) - \bigvee_x^b(f) \right| \right]; \\ [(x-a)^{qr} + (b-x)^{qr}]^{\frac{1}{q}} \left[(\bigvee_a^x(f))^p + (\bigvee_x^b(f))^p \right]^{\frac{1}{p}} \\ \quad \text{if } p > 1, \frac{1}{p} + \frac{1}{q} = 1; \\ \left[\frac{1}{2}(b-a) + \left| x - \frac{a+b}{2} \right| \right]^r \bigvee_a^b(f); \end{cases}$$

for any $x \in [a, b]$, where $\bigvee_c^d(f)$ denotes the *total variation* of f on $[c, d]$. Out of (1.3) we can obtain the following *mid-point inequality*

$$(1.4) \quad \left| [u(b) - u(a)] f\left(\frac{a+b}{2}\right) - \int_a^b f(t) du(t) \right| \leq \frac{H(b-a)^r}{2^r} \cdot \bigvee_a^b(f).$$

The dual result (see [20]), can be stated as follows:

If $u : [a, b] \rightarrow \mathbb{R}$ is of bounded variation on $[a, b]$ and $f : [a, b] \rightarrow \mathbb{R}$ is of q - K -Hölder type, then

$$(1.5) \quad \left| [u(b) - u(a)] f(x) - \int_a^b f(t) du(t) \right| \leq K \left[\frac{1}{2}(b-a) + \left| x - \frac{a+b}{2} \right| \right]^q \bigvee_a^b(u)$$

for any $x \in [a, b]$. In particular, for $x = \frac{a+b}{2}$, we get the mid-point inequality

$$(1.6) \quad \left| [u(b) - u(a)] f\left(\frac{a+b}{2}\right) - \int_a^b f(t) du(t) \right| \leq \frac{K(b-a)^q}{2^q} \cdot \bigvee_a^b(u).$$

In 2001, Dragomir et. al, see [26], in order to approximate the Riemann-Stieltjes integral $\int_a^b f(t) du(t)$ in a different manner, considered the following *generalized trapezoid formula*

$$[u(b) - u(x)] f(b) + [u(x) - u(a)] f(a), \quad x \in [a, b].$$

They proved the error estimate

$$(1.7) \quad \left| \int_a^b f(t) du(t) - [u(b) - u(x)] f(b) - [u(x) - u(a)] f(a) \right| \\ \leq H \left[\frac{1}{2}(b-a) + \left| x - \frac{a+b}{2} \right| \right]^r \bigvee_a^b(f)$$

for any $x \in [a, b]$, provided that $f : [a, b] \rightarrow \mathbb{R}$ is of bounded variation on $[a, b]$ and u is of r - H -Hölder type.

The case $x = \frac{a+b}{2}$ provides the simpler result

$$(1.8) \quad \left| \int_a^b f(t) du(t) - \left[u(b) - u\left(\frac{a+b}{2}\right) \right] f(b) - \left[u\left(\frac{a+b}{2}\right) - u(a) \right] f(a) \right| \\ \leq H \frac{1}{2^r} (b-a)^r \bigvee_a^b(f).$$

In [12], the following dual result has been obtained as well:

$$(1.9) \quad \left| \int_a^b f(t) du(t) - [u(b) - u(x)] f(b) - [u(x) - u(a)] f(a) \right| \\ \leq K \left[(x-a)^q \bigvee_a^x(u) + (b-x)^q \bigvee_x^b(u) \right] \\ \leq K \times \begin{cases} [(x-a)^q + (b-x)^q] \left[\frac{1}{2} V_a^b(u) + \frac{1}{2} |V_a^x(u) - V_x^b(u)| \right]; \\ \left[(x-a)^{\alpha q} + (b-x)^{\beta q} \right]^{\frac{1}{\alpha}} \left[[V_a^x(u)]^\beta + [V_x^b(u)]^\beta \right]^{\frac{1}{\beta}} \\ \quad \text{if } \alpha > 1, \frac{1}{\alpha} + \frac{1}{\beta} = 1; \\ \left[\frac{1}{2} (b-a) + \left| x - \frac{a+b}{2} \right| \right]^q V_a^b(u); \end{cases}$$

for any $x \in [a, b]$, provided that f is of q - K -Hölder type and u is of bounded variation.

In particular we have

$$(1.10) \quad \left| \int_a^b f(t) du(t) - \left[u(b) - u\left(\frac{a+b}{2}\right) \right] f(b) - \left[u\left(\frac{a+b}{2}\right) - u(a) \right] f(a) \right| \\ \leq K \frac{1}{2^q} (b-a)^q \bigvee_a^b(u)$$

For other inequalities of this type, see the recent papers [9], [6] and [15].

For some classical results concerning the approximation of the Riemann-Stieltjes integral, see the seminal paper due to Michael Tortorella from 1990, [42]. Earlier results in this direction, however, were provided by Dubuc and Todor in their 1984 and 1987 papers [31] and [32], respectively.

For recent results concerning the approximation of the Riemann-Stieltjes integral, see the work of Diethelm [16], Liu [34], Mercer [35], Munteanu [38], Mozyrska et al. [37] and the references therein. For other recent results obtained in the same direction by the first author and his colleagues from RGMIA, see [7], [6], [8], [15], [13], [14], [24] and [21]. A comprehensive list of preprints related to this subject may be found at <http://rgmia.org>.

Motivated by the above results, in the present paper we investigate the problem of approximating the Riemann-Stieltjes integral $\int_a^b f(\lambda) du(\lambda)$ in the case when the integrand f is $(n+1)$ -time differentiable ($n \geq 0$) and the derivative $f^{(n+1)}$ is continuous on $[a, b]$, while the integrator u is Riemann integrable on $[a, b]$. A priory error bounds for different classes of functions are provided.

2. SOME APPROXIMATION RULES

In this section we establish some representation results in the case when the integrand f is $(n + 1)$ -time differentiable ($n \geq 0$) and the derivative $f^{(n+1)}$ is continuous on $[a, b]$, while the integrator u is Riemann integrable on $[a, b]$.

Theorem 1. *Assume that the function $f : I \rightarrow \mathbb{C}$ is of class C^{n+1} for $n \geq 1$, namely the derivative $f^{(n+1)}$ exists and is continuous on \hat{I} , the interior of I . If $a, b \in \hat{I}$ with $a < b$, $c \in [a, b]$ and $u : [a, b] \rightarrow \mathbb{C}$ is Riemann integrable on $[a, b]$, then the Riemann-Stieltjes integral $\int_a^b f(\lambda) du(\lambda)$ exists, we have the representation*

$$(2.1) \quad \int_a^b f(\lambda) du(\lambda) = S_n(f, u, a, c, b) + W_n(f, u, a, c, b),$$

where $S_n(f, u, a, c, b)$ is given by

$$(2.2) \quad \begin{aligned} S_n(f, u, a, c, b) := & f(b)u(b) - f(a)u(a) \\ & - \sum_{k=0}^{n-1} \frac{1}{k!} f^{(k+1)}(c) \int_a^b (\lambda - c)^k u(\lambda) d\lambda \end{aligned}$$

and the reminder has the form

$$(2.3) \quad W_n(f, u, a, c, b) := -\frac{1}{(n-1)!} \int_a^b \left(\int_c^\lambda (\lambda - t)^{n-1} f^{(n+1)}(t) dt \right) u(\lambda) d\lambda,$$

where the integrals are taken in the Riemann sense.

Proof. Under the assumption of the theorem, we utilize the following Taylor's representation

$$(2.4) \quad f(\lambda) = \sum_{k=0}^n \frac{1}{k!} f^{(k)}(c) (\lambda - c)^k + \frac{1}{n!} \int_c^\lambda (\lambda - t)^n f^{(n+1)}(t) dt$$

that holds for any $c \in [a, b]$ and $n \geq 0$. The integral in (2.4) is taken in the Riemann sense.

Further on, by integrating the identity (2.4) over $du(t)$ we get

$$(2.5) \quad \begin{aligned} \int_a^b f(\lambda) du(\lambda) = & \sum_{k=0}^n \frac{1}{k!} f^{(k)}(c) \int_a^b (\lambda - c)^k du(\lambda) \\ & + \frac{1}{n!} \int_a^b \left(\int_c^\lambda (\lambda - t)^n f^{(n+1)}(t) dt \right) du(\lambda). \end{aligned}$$

The Riemann-Stieltjes integrals in the right side of the equality (2.5) all exists since the integrands involved are clearly Lipschitzian on $[a, b]$ and the integrator is Riemann integrable on $[a, b]$. This implies that the Riemann-Stieltjes integral $\int_a^b f(\lambda) du(\lambda)$ exists and the representation (2.5) is valid as stated.

Utilizing the integration by parts formula for the Riemann-Stieltjes integral we have for $k \geq 1$ that

$$\begin{aligned}
 (2.6) \quad \int_a^b (\lambda - c)^k du(\lambda) &= (\lambda - c)^k u(\lambda) \Big|_a^b - k \int_a^b (\lambda - c)^{k-1} u(\lambda) d\lambda \\
 &= (b - c)^k u(b) + (-1)^{k+1} (c - a)^k u(a) \\
 &\quad - k \int_a^b (\lambda - c)^{k-1} u(\lambda) d\lambda.
 \end{aligned}$$

For $k = 0$ we have $\int_a^b du(\lambda) = u(b) - u(a)$.

Therefore, by (2.6) we get

$$\begin{aligned}
 (2.7) \quad &\sum_{k=0}^n \frac{1}{k!} f^{(k)}(c) \int_a^b (\lambda - c)^k du(\lambda) \\
 &= \sum_{k=0}^n \frac{1}{k!} f^{(k)}(c) \left[(b - c)^k u(b) + (-1)^{k+1} (c - a)^k u(a) \right] \\
 &\quad - \sum_{k=0}^{n-1} \frac{1}{k!} f^{(k+1)}(c) \int_a^b (\lambda - c)^k u(\lambda) d\lambda.
 \end{aligned}$$

Now, since $f : I \rightarrow \mathbb{C}$ is of class C^{n+1} then we observe that integrating by parts in the Riemann-Stieltjes integral and utilizing Leibniz's rule for differentiation under the integral sign we have successively

$$\begin{aligned}
 (2.8) \quad &\int_a^b \left(\int_c^\lambda (\lambda - t)^n f^{(n+1)}(t) dt \right) du(\lambda) \\
 &= \left(\int_c^\lambda (\lambda - t)^n f^{(n+1)}(t) dt \right) u(\lambda) \Big|_a^b \\
 &\quad - \int_a^b u(\lambda) \frac{d \left(\int_c^\lambda (\lambda - t)^n f^{(n+1)}(t) dt \right)}{d\lambda} d\lambda \\
 &= \left(\int_c^b (b - t)^n f^{(n+1)}(t) dt \right) u(b) - \left(\int_c^a (a - t)^n f^{(n+1)}(t) dt \right) u(a) \\
 &\quad - n \int_a^b \left(\int_c^\lambda (\lambda - t)^{n-1} f^{(n+1)}(t) dt \right) u(\lambda) d\lambda.
 \end{aligned}$$

Since, by the representation (2.4) for the function $f : I \rightarrow \mathbb{C}$ that is of class C^{n+1} we have

$$\int_c^b (b - t)^n f^{(n+1)}(t) dt = \left[f(b) - \sum_{k=0}^n \frac{1}{k!} f^{(k)}(c) (b - c)^k \right] n!$$

and

$$\int_c^a (a - t)^n f^{(n+1)}(t) dt = \left[f(a) - \sum_{k=0}^n \frac{1}{k!} f^{(k)}(c) (a - c)^k \right] n!,$$

then we get from (2.8) that

$$\begin{aligned}
(2.9) \quad & \int_a^b \left(\int_c^\lambda (\lambda - t)^n f^{(n+1)}(t) dt \right) du(\lambda) \\
&= n! \left[f(b) - \sum_{k=0}^n \frac{1}{k!} f^{(k)}(c) (b-c)^k \right] u(b) \\
&\quad - n! \left[f(a) - \sum_{k=0}^n \frac{1}{k!} f^{(k)}(c) (a-c)^k \right] u(a) \\
&\quad - n \int_a^b \left(\int_c^\lambda (\lambda - t)^{n-1} f^{(n+1)}(t) dt \right) u(\lambda) d\lambda.
\end{aligned}$$

If we divide (2.9) by $n!$ we get for $n \geq 1$ that

$$\begin{aligned}
(2.10) \quad & \frac{1}{n!} \int_a^b \left(\int_c^\lambda (\lambda - t)^n f^{(n+1)}(t) dt \right) du(\lambda) \\
&= \left[f(b) - \sum_{k=0}^n \frac{1}{k!} f^{(k)}(c) (b-c)^k \right] u(b) \\
&\quad - \left[f(a) - \sum_{k=0}^n \frac{1}{k!} f^{(k)}(c) (a-c)^k \right] u(a) \\
&\quad - \frac{1}{(n-1)!} \int_a^b \left(\int_c^\lambda (\lambda - t)^{n-1} f^{(n+1)}(t) dt \right) u(\lambda) d\lambda.
\end{aligned}$$

On making use of the identities (2.5), (2.7) and (2.10) we have

$$\begin{aligned}
\int_a^b f(\lambda) du(\lambda) &= \sum_{k=0}^n \frac{1}{k!} f^{(k)}(c) \left[(b-c)^k u(b) + (-1)^{k+1} (c-a)^k u(a) \right] \\
&\quad - \sum_{k=0}^{n-1} \frac{1}{k!} f^{(k+1)}(c) \int_a^b (\lambda - c)^k u(\lambda) d\lambda \\
&\quad + \left[f(b) - \sum_{k=0}^n \frac{1}{k!} f^{(k)}(c) (b-c)^k \right] u(b) \\
&\quad - \left[f(a) - \sum_{k=0}^n \frac{1}{k!} f^{(k)}(c) (a-c)^k \right] u(a) \\
&\quad - \frac{1}{(n-1)!} \int_a^b \left(\int_c^\lambda (\lambda - t)^{n-1} f^{(n+1)}(t) dt \right) u(\lambda) d\lambda \\
&= S_n(f, u, a, c, b) + W_n(f, u, a, c, b)
\end{aligned}$$

where $S_n(f, u, a, c, b)$ and $W_n(f, u, a, c, b)$ are given by (2.2) and (2.3). \square

Remark 1. Under the assumptions of Theorem 1 we have the representation

$$(2.11) \quad \int_a^b f(\lambda) du(\lambda) =_d S_n(f, u, a, b) +_d W_n(f, u, a, b),$$

where ${}_dS_n(f, u, a, b)$ is given by

$$(2.12) \quad {}_dS_n(f, u, a, b) := S_n(f, u, a, a, b) = f(b)u(b) - f(a)u(a) \\ - \sum_{k=0}^{n-1} \frac{1}{k!} f^{(k+1)}(a) \int_a^b (\lambda - a)^k u(\lambda) d\lambda$$

and the reminder has the form

$$(2.13) \quad {}_dW_n(f, u, a, b) := W_n(f, u, a, a, b) \\ = -\frac{1}{(n-1)!} \int_a^b \left(\int_a^\lambda (\lambda - t)^{n-1} f^{(n+1)}(t) dt \right) u(\lambda) d\lambda.$$

By taking $c = \frac{a+b}{2}$, we have the representation

$$(2.14) \quad \int_a^b f(\lambda) du(\lambda) = {}_M S_n(f, u, a, b) + {}_M W_n(f, u, a, b),$$

where

$$(2.15) \quad {}_M S_n(f, u, a, b) := S_n\left(f, u, a, \frac{a+b}{2}, b\right) = f(b)u(b) - f(a)u(a) \\ - \sum_{k=0}^{n-1} \frac{1}{k!} f^{(k+1)}\left(\frac{a+b}{2}\right) \int_a^b \left(\lambda - \frac{a+b}{2}\right)^k u(\lambda) d\lambda$$

and

$$(2.16) \quad {}_M W_n(f, u, a, b) := W_n\left(f, u, a, \frac{a+b}{2}, b\right) \\ = -\frac{1}{(n-1)!} \int_a^b \left(\int_{\frac{a+b}{2}}^\lambda (\lambda - t)^{n-1} f^{(n+1)}(t) dt \right) u(\lambda) d\lambda.$$

Finally, by choosing $c = b$ we have

$$(2.17) \quad \int_a^b f(\lambda) du(\lambda) = {}_u S_n(f, u, a, b) + {}_u W_n(f, u, a, b)$$

where

$$(2.18) \quad {}_u S_n(f, u, a, b) := S_n(f, u, a, b, b) = f(b)u(b) - f(a)u(a) \\ + \sum_{k=0}^{n-1} \frac{(-1)^{k+1}}{k!} f^{(k+1)}(b) \int_a^b (b - \lambda)^k u(\lambda) d\lambda$$

and the new reminder has the form

$$(2.19) \quad {}_u W_n(f, u, a, b) := W_n(f, u, a, b, b) \\ = \frac{(-1)^{n+1}}{(n-1)!} \int_a^b \left(\int_\lambda^b (t - \lambda)^{n-1} f^{(n+1)}(t) dt \right) u(\lambda) d\lambda.$$

3. ERROR BOUNDS

We use the following norm notations for integrable functions:

$$\|g\|_{[x,y],p} := \left| \int_x^y |g(s)|^p ds \right|^{1/p} \quad \text{if } p \geq 1, \quad x, y \in [a, b] \quad \text{and } g \in L_p[a, b];$$

and for $g \in L_\infty[a, b]$ we denote

$$\|g\|_{[x,y],\infty} := \begin{cases} \operatorname{ess\,sup}_{s \in [x,y]} |g(s)| & \text{if } x < y \\ \operatorname{ess\,sup}_{s \in [y,x]} |g(s)| & \text{if } y < x. \end{cases}$$

Theorem 2. *Assume that the function $f : I \rightarrow \mathbb{C}$ is of class C^{n+1} for $n \geq 1$, namely the derivative $f^{(n+1)}$ exists and is continuous on \hat{I} , the interior of I . If $a, b \in \hat{I}$ with $a < b$, $c \in [a, b]$ and $u : [a, b] \rightarrow \mathbb{C}$ is Riemann integrable on $[a, b]$, then the error $W_n(f, u, a, c, b)$ in the approximation rule (2.1) satisfies the bounds*

$$(3.1) \quad |W_n(f, u, a, c, b)| \leq B_{1,n}(f, u, a, c) + B_{2,n}(f, u, c, b)$$

where

$$(3.2) \quad B_{1,n}(f, u, a, c) := \frac{1}{(n-1)!} \int_a^c \left(\int_\lambda^c (t-\lambda)^{n-1} |f^{(n+1)}(t)| dt \right) |u(\lambda)| d\lambda$$

and

$$(3.3) \quad B_{2,n}(f, u, c, b) := \frac{1}{(n-1)!} \int_c^b \left(\int_c^\lambda (\lambda-t)^{n-1} |f^{(n+1)}(t)| dt \right) |u(\lambda)| d\lambda.$$

Moreover, we have

$$(3.4) \quad B_{1,n}(f, u, a, c)$$

$$\leq \begin{cases} \frac{\|f^{(n+1)}\|_{[a,c],p}}{(n-1)![(n-1)q+1]^{1/q}} \int_a^c (c-\lambda)^{n-1+1/q} |u(\lambda)| d\lambda, & p > 1, \frac{1}{p} + \frac{1}{q} = 1 \\ \frac{1}{n!} \|f^{(n+1)}\|_{[a,c],\infty} \int_a^c (c-\lambda)^n |u(\lambda)| d\lambda \end{cases}$$

and

$$(3.5) \quad B_{2,n}(f, u, c, b)$$

$$\leq \begin{cases} \frac{\|f^{(n+1)}\|_{[c,b],r}}{(n-1)![(n-1)s+1]^{1/s}} \int_c^b (\lambda-c)^{n-1+1/s} |u(\lambda)| d\lambda, & r > 1, \frac{1}{r} + \frac{1}{s} = 1 \\ \frac{1}{n!} \|f^{(n+1)}\|_{[c,b],\infty} \int_c^b (\lambda-c)^n |u(\lambda)| d\lambda \end{cases}$$

for any $c \in [a, b]$.

Proof. Utilizing the representation (2.3), then we have for each $c \in [a, b]$ that

$$\begin{aligned}
 (3.6) \quad & |W_n(f, u, a, c, b)| \\
 & \leq \frac{1}{(n-1)!} \left[\left| \int_a^c \left(\int_c^\lambda (\lambda-t)^{n-1} f^{(n+1)}(t) dt \right) u(\lambda) d\lambda \right| \right. \\
 & \quad \left. + \left| \int_c^b \left(\int_c^\lambda (\lambda-t)^{n-1} f^{(n+1)}(t) dt \right) u(\lambda) d\lambda \right| \right] \\
 & \leq \frac{1}{(n-1)!} \left[\int_a^c \left| \int_\lambda^c (\lambda-t)^{n-1} f^{(n+1)}(t) dt \right| |u(\lambda)| d\lambda \right. \\
 & \quad \left. + \int_c^b \left| \int_c^\lambda (\lambda-t)^{n-1} f^{(n+1)}(t) dt \right| |u(\lambda)| d\lambda \right] \\
 & \leq \frac{1}{(n-1)!} \left[\int_a^c \left(\int_\lambda^c (t-\lambda)^{n-1} |f^{(n+1)}(t)| dt \right) |u(\lambda)| d\lambda \right. \\
 & \quad \left. + \int_c^b \left(\int_c^\lambda (\lambda-t)^{n-1} |f^{(n+1)}(t)| dt \right) |u(\lambda)| d\lambda \right]
 \end{aligned}$$

and the inequality (3.6) is proved.

Now, on utilizing the Hölder integral inequality we have

$$\begin{aligned}
 \int_\lambda^c (t-\lambda)^{n-1} |f^{(n+1)}(t)| dt & \leq \|f^{(n+1)}\|_{[\lambda, c], p} \left[\int_\lambda^c [(t-\lambda)^{n-1}]^q dt \right]^{1/q} \\
 & \leq \|f^{(n+1)}\|_{[a, c], p} \frac{(c-\lambda)^{n-1+1/q}}{[(n-1)q+1]^{1/q}}, p > 1, \frac{1}{p} + \frac{1}{q} = 1
 \end{aligned}$$

and

$$\begin{aligned}
 \int_c^\lambda (\lambda-t)^{n-1} |f^{(n+1)}(t)| dt & \leq \|f^{(n+1)}\|_{[c, \lambda], r} \left[\int_c^\lambda [(\lambda-t)^{n-1}]^s dt \right]^{1/s} \\
 & \leq \|f^{(n+1)}\|_{[c, b], r} \frac{(\lambda-c)^{n-1+1/s}}{[(n-1)s+1]^{1/s}}, r > 1, \frac{1}{r} + \frac{1}{s} = 1.
 \end{aligned}$$

These imply that

$$(3.7) \quad B_{1,n}(f, u, a, c) \leq \frac{\|f^{(n+1)}\|_{[a, c], p}}{(n-1)! [(n-1)q+1]^{1/q}} \int_a^c (c-\lambda)^{n-1+1/q} |u(\lambda)| d\lambda$$

for $p > 1, \frac{1}{p} + \frac{1}{q} = 1$ and

$$(3.8) \quad B_{2,n}(f, u, c, b) \leq \frac{\|f^{(n+1)}\|_{[c, b], r}}{(n-1)! [(n-1)s+1]^{1/s}} \int_c^b (\lambda-c)^{n-1+1/s} |u(\lambda)| d\lambda$$

for $r > 1, \frac{1}{r} + \frac{1}{s} = 1$ and $c \in [a, b]$.

We also have that

$$\begin{aligned} \int_{\lambda}^c (t-\lambda)^{n-1} |f^{(n+1)}(t)| dt &\leq \|f^{(n+1)}\|_{[\lambda,c],\infty} \int_{\lambda}^c (t-\lambda)^{n-1} dt \\ &\leq \|f^{(n+1)}\|_{[a,c],\infty} \frac{(c-\lambda)^n}{n} \end{aligned}$$

and

$$\begin{aligned} \int_c^{\lambda} (\lambda-t)^{n-1} |f^{(n+1)}(t)| dt &\leq \|f^{(n+1)}\|_{[c,\lambda],\infty} \int_c^{\lambda} (\lambda-t)^{n-1} dt \\ &\leq \|f^{(n+1)}\|_{[c,b],\infty} \frac{(\lambda-c)^n}{n}, r > 1, \frac{1}{r} + \frac{1}{s} = 1, \end{aligned}$$

which produce the bounds

$$(3.9) \quad B_{1,n}(f, u, a, c) \leq \frac{1}{n!} \|f^{(n+1)}\|_{[a,c],\infty} \int_a^c (c-\lambda)^n |u(\lambda)| d\lambda$$

and

$$(3.10) \quad B_{2,n}(f, u, c, b) \leq \frac{1}{n!} \|f^{(n+1)}\|_{[c,b],\infty} \int_c^b (\lambda-c)^n |u(\lambda)| d\lambda$$

for any and $c \in [a, b]$.

On making use of (3.7)-(3.10) we deduce the desired bounds (3.4) and (3.5). \square

If the p -norms of the integrator u are known, then we have the following error bounds involving these norms:

Corollary 1. *With the assumptions of Theorem 2 we have the error bounds*

$$(3.11) \quad B_{1,n}(f, u, a, c) \leq \begin{cases} C_{1,n,p}(f, u, a, c), & p > 1, \frac{1}{p} + \frac{1}{q} = 1; \\ C_{1,n,\infty}(f, u, a, c); \end{cases}$$

where

$$(3.12) \quad \begin{aligned} &C_{1,n,p}(f, u, a, c) \\ &:= \frac{\|f^{(n+1)}\|_{[a,c],p}}{(n-1)! [(n-1)q+1]^{1/q}} \int_a^c (c-\lambda)^{n-1+1/q} |u(\lambda)| d\lambda \\ &\leq \begin{cases} \frac{\|f^{(n+1)}\|_{[a,c],p} \|u\|_{[a,c],\infty}}{(n+1/q)(n-1)! [(n-1)q+1]^{1/q}} (c-a)^{n+1/q}; \\ \frac{\|f^{(n+1)}\|_{[a,c],p} \|u\|_{[a,c],\alpha}}{[(n-1+1/q)\beta+1]^{1/\beta} (n-1)! [(n-1)q+1]^{1/q}} (c-a)^{n-1+1/q+1/\beta}, \\ \alpha, \beta > 1, \frac{1}{\alpha} + \frac{1}{\beta} = 1; \\ \frac{\|f^{(n+1)}\|_{[a,c],p} \|u\|_{[a,c],1}}{(n-1)! [(n-1)q+1]^{1/q}} (c-a)^{n-1+1/q}; \end{cases} \end{aligned}$$

and

$$(3.13) \quad \begin{aligned} & C_{1,n,\infty}(f, u, a, c) \\ & := \frac{1}{n!} \left\| f^{(n+1)} \right\|_{[a,c],\infty} \int_a^c (c-\lambda)^n |u(\lambda)| d\lambda \\ & \leq \begin{cases} \frac{1}{(n+1)!} \left\| f^{(n+1)} \right\|_{[a,c],\infty} \|u\|_{[a,c],\infty} (c-a)^{n+1} \\ \frac{1}{n!(n\delta+1)^{1/\delta}} \left\| f^{(n+1)} \right\|_{[a,c],\infty} \|u\|_{[a,c],\gamma} (c-a)^{n+1/\delta} \\ \gamma, \delta > 1, \frac{1}{\gamma} + \frac{1}{\delta} = 1 \\ \frac{1}{n!} \|u\|_{[a,c],1} \left\| f^{(n+1)} \right\|_{[a,c],\infty} (c-a)^n. \end{cases} \end{aligned}$$

while

$$(3.14) \quad B_{2,n}(f, u, c, b) \leq \begin{cases} C_{2,n,p}(f, u, a, c), & r > 1, \frac{1}{r} + \frac{1}{s} = 1; \\ C_{2,n,\infty}(f, u, a, c); \end{cases}$$

where

$$(3.15) \quad \begin{aligned} & C_{2,n,p}(f, u, a, c) \\ & := \frac{\left\| f^{(n+1)} \right\|_{[c,b],r}}{(n-1)! [(n-1)s+1]^{1/s}} \int_c^b (\lambda-c)^{n-1+1/s} |u(\lambda)| d\lambda \\ & \leq \begin{cases} \frac{\left\| f^{(n+1)} \right\|_{[c,b],r} \|u\|_{[c,b],\infty}}{(n+1/s)(n-1)! [(n-1)s+1]^{1/s}} (b-c)^{n+1/s}; \\ \frac{\left\| f^{(n+1)} \right\|_{[c,b],r} \|u\|_{[c,b],\varepsilon}}{[(n-1+1/s)\zeta+1]^{1/\zeta} (n-1)! [(n-1)s+1]^{1/s}} (b-c)^{n-1+1/s+1/\zeta}, \\ \varepsilon, \zeta > 1, \frac{1}{\varepsilon} + \frac{1}{\zeta} = 1; \\ \frac{\left\| f^{(n+1)} \right\|_{[c,b],r} \|u\|_{[c,b],1}}{(n-1)! [(n-1)s+1]^{1/s}} (b-c)^{n-1+1/s}; \end{cases} \end{aligned}$$

and

$$(3.16) \quad \begin{aligned} & C_{2,n,\infty}(f, u, a, c) \\ & := \frac{1}{n!} \left\| f^{(n+1)} \right\|_{[c,b],\infty} \int_c^b (\lambda-c)^n |u(\lambda)| d\lambda \\ & \leq \begin{cases} \frac{1}{(n+1)!} \left\| f^{(n+1)} \right\|_{[c,b],\infty} \|u\|_{[c,b],\infty} (b-c)^{n+1}; \\ \frac{1}{n!(n\theta+1)^{1/\theta}} \left\| f^{(n+1)} \right\|_{[c,b],\infty} \|u\|_{[c,b],\eta} (b-c)^{n+1/\theta}, \\ \eta, \theta > 1, \frac{1}{\eta} + \frac{1}{\theta} = 1; \\ \frac{1}{n!} \|u\|_{[c,b],1} \left\| f^{(n+1)} \right\|_{[c,b],\infty} (b-c)^n; \end{cases} \end{aligned}$$

for any $c \in [a, b]$.

Proof. Utilizing the Hölder integral inequality we have

$$\begin{aligned}
& \int_a^c (c - \lambda)^{n-1+1/q} |u(\lambda)| d\lambda \\
& \leq \begin{cases} \|u\|_{[a,c],\infty} \int_a^c (c - \lambda)^{n-1+1/q} d\lambda \\ \|u\|_{[a,c],\alpha} \left\{ \int_a^c [(c - \lambda)^{n-1+1/q}]^\beta d\lambda \right\}^{1/\beta} & \alpha, \beta > 1, \frac{1}{\alpha} + \frac{1}{\beta} = 1 \\ \|u\|_{[a,c],1} \sup_{\lambda \in [a,c]} (c - \lambda)^{n-1+1/q} \end{cases} \\
& = \begin{cases} \frac{1}{n+1/q} \|u\|_{[a,c],\infty} (c - a)^{n+1/q} \\ \frac{1}{[(n-1+1/q)\beta+1]^{1/\beta}} \|u\|_{[a,c],\alpha} (c - a)^{n-1+1/q+1/\beta} & \alpha, \beta > 1, \frac{1}{\alpha} + \frac{1}{\beta} = 1 \\ \|u\|_{[a,c],1} (c - a)^{n-1+1/q} \end{cases}
\end{aligned}$$

then

$$\begin{aligned}
& \frac{\|f^{(n+1)}\|_{[a,c],p}}{(n-1)![(n-1)q+1]^{1/q}} \int_a^c (c - \lambda)^{n-1+1/q} |u(\lambda)| d\lambda \\
& \leq \frac{\|f^{(n+1)}\|_{[a,c],p}}{(n-1)![(n-1)q+1]^{1/q}} \\
& \times \begin{cases} \frac{1}{n+1/q} \|u\|_{[a,c],\infty} (c - a)^{n+1/q} \\ \frac{1}{[(n-1+1/q)\beta+1]^{1/\beta}} \|u\|_{[a,c],\alpha} (c - a)^{n-1+1/q+1/\beta} & \alpha, \beta > 1, \frac{1}{\alpha} + \frac{1}{\beta} = 1 \\ \|u\|_{[a,c],1} (c - a)^{n-1+1/q} \end{cases} \\
& = \begin{cases} \frac{\|f^{(n+1)}\|_{[a,c],p} \|u\|_{[a,c],\infty}}{(n+1/q)(n-1)![(n-1)q+1]^{1/q}} (c - a)^{n+1/q} \\ \frac{\|f^{(n+1)}\|_{[a,c],p} \|u\|_{[a,c],\alpha}}{[(n-1+1/q)\beta+1]^{1/\beta} (n-1)![(n-1)q+1]^{1/q}} (c - a)^{n-1+1/q+1/\beta} & \alpha, \beta > 1, \frac{1}{\alpha} + \frac{1}{\beta} = 1 \\ \frac{\|f^{(n+1)}\|_{[a,c],p} \|u\|_{[a,c],1}}{(n-1)![(n-1)q+1]^{1/q}} (c - a)^{n-1+1/q} . \end{cases}
\end{aligned}$$

By the Hölder integral inequality we also have

$$\begin{aligned}
 & \int_a^c (c - \lambda)^n |u(\lambda)| d\lambda \\
 & \leq \begin{cases} \|u\|_{[a,c],\infty} \int_a^c (c - \lambda)^n d\lambda \\ \|u\|_{[a,c],\gamma} \left\{ \int_a^c [(c - \lambda)^{n\gamma}]^\delta d\lambda \right\}^{1/\delta} & \gamma, \delta > 1, \frac{1}{\gamma} + \frac{1}{\delta} = 1 \\ \|u\|_{[a,c],1} \sup_{\lambda \in [a,c]} (c - \lambda)^n \\ \frac{1}{n+1} \|u\|_{[a,c],\infty} (c - a)^{n+1} \\ \frac{1}{(n\delta+1)^{1/\delta}} \|u\|_{[a,c],\gamma} (c - a)^{n+1/\delta} & \gamma, \delta > 1, \frac{1}{\gamma} + \frac{1}{\delta} = 1 \\ \|u\|_{[a,c],1} (c - a)^n \end{cases} \\
 & = \begin{cases} \frac{1}{n+1} \|u\|_{[a,c],\infty} (c - a)^{n+1} \\ \frac{1}{(n\delta+1)^{1/\delta}} \|u\|_{[a,c],\gamma} (c - a)^{n+1/\delta} & \gamma, \delta > 1, \frac{1}{\gamma} + \frac{1}{\delta} = 1 \\ \|u\|_{[a,c],1} (c - a)^n \end{cases}
 \end{aligned}$$

which implies

$$\begin{aligned}
 & \frac{1}{n!} \left\| f^{(n+1)} \right\|_{[a,c],\infty} \int_a^c (c - \lambda)^n |u(\lambda)| d\lambda \\
 & \leq \begin{cases} \frac{1}{(n+1)!} \left\| f^{(n+1)} \right\|_{[a,c],\infty} \|u\|_{[a,c],\infty} (c - a)^{n+1} \\ \frac{1}{n!(n\delta+1)^{1/\delta}} \left\| f^{(n+1)} \right\|_{[a,c],\infty} \|u\|_{[a,c],\gamma} (c - a)^{n+1/\delta} & \gamma, \delta > 1, \frac{1}{\gamma} + \frac{1}{\delta} = 1 \\ \frac{1}{n!} \|u\|_{[a,c],1} \left\| f^{(n+1)} \right\|_{[a,c],\infty} (c - a)^n \end{cases}
 \end{aligned}$$

By a similar argument we obtain the remaining bounds and the details are omitted. \square

Remark 2. In applications is easier to use the following bounds that can be obtained from the above:

$$\begin{aligned}
 (3.17) \quad & |W_n(f, u, a, c, b)| \\
 & \leq \frac{1}{(n+1)!} \left\| f^{(n+1)} \right\|_{[a,c],\infty} \|u\|_{[a,c],\infty} (c - a)^{n+1} \\
 & + \frac{1}{(n+1)!} \left\| f^{(n+1)} \right\|_{[c,b],\infty} \|u\|_{[c,b],\infty} (b - c)^{n+1} \\
 & \leq \frac{1}{(n+1)!} \left\| f^{(n+1)} \right\|_{[a,b],\infty} \|u\|_{[a,b],\infty} \left[(c - a)^{n+1} + (b - c)^{n+1} \right]
 \end{aligned}$$

and

$$\begin{aligned}
 (3.18) \quad & |W_n(f, u, a, c, b)| \\
 & \leq \frac{1}{n!} \|u\|_{[a,c],1} \left\| f^{(n+1)} \right\|_{[a,c],\infty} (c - a)^n \\
 & + \frac{1}{n!} \|u\|_{[c,b],1} \left\| f^{(n+1)} \right\|_{[c,b],\infty} (b - c)^n \\
 & \leq \frac{1}{n!} \|u\|_{[a,b],1} \left\| f^{(n+1)} \right\|_{[a,b],\infty} \left[(c - a)^n + (b - c)^n \right]
 \end{aligned}$$

for any $c \in [a, b]$.

The case when $c = \frac{a+b}{2}$ provides the following bounds for the error $W_n(f, u, a, \frac{a+b}{2}, b)$:

$$\begin{aligned}
(3.19) \quad & \left| W_n \left(f, u, a, \frac{a+b}{2}, b \right) \right| \\
& \leq \frac{1}{(n+1)!2^{n+1}} (b-a)^{n+1} \\
& \times \left[\left\| f^{(n+1)} \right\|_{\left[a, \frac{a+b}{2} \right], \infty} \|u\|_{\left[a, \frac{a+b}{2} \right], \infty} + \left\| f^{(n+1)} \right\|_{\left[\frac{a+b}{2}, b \right], \infty} \|u\|_{\left[\frac{a+b}{2}, b \right], \infty} \right] \\
& \leq \frac{1}{(n+1)!2^n} (b-a)^{n+1} \left\| f^{(n+1)} \right\|_{[a,b], \infty} \|u\|_{[a,b], \infty}
\end{aligned}$$

and

$$\begin{aligned}
(3.20) \quad & \left| W_n \left(f, u, a, \frac{a+b}{2}, b \right) \right| \\
& \leq \frac{1}{n!2^n} (b-a)^n \\
& \times \left[\|u\|_{\left[a, \frac{a+b}{2} \right], 1} \left\| f^{(n+1)} \right\|_{\left[a, \frac{a+b}{2} \right], \infty} + \|u\|_{\left[\frac{a+b}{2}, b \right], 1} \left\| f^{(n+1)} \right\|_{\left[\frac{a+b}{2}, b \right], \infty} \right] \\
& \leq \frac{1}{n!2^n} (b-a)^n \|u\|_{[a,b], 1} \left\| f^{(n+1)} \right\|_{[a,b], \infty}.
\end{aligned}$$

4. APPLICATIONS

We consider the following *finite Laplace-Stieltjes transform* defined by

$$(4.1) \quad (\mathcal{L}_{[a,b]}g)(s) := \int_a^b e^{-st} dg(t)$$

where a, b are real numbers with $a < b$, s is a complex number and $g : [a, b] \rightarrow \mathbb{C}$ is a Riemann integrable function on $[a, b]$.

Since the function $f_s : [a, b] \rightarrow \mathbb{C}$, $f_s(t) := e^{-st}$ is continuous for any $s \in \mathbb{C}$, the transform (4.1) is well defined for any $s \in \mathbb{C}$.

We observe that the function f_s has derivatives of all orders and

$$(4.2) \quad f_s^{(k)}(t) = (-1)^k s^k e^{-st} \text{ for any } s \in \mathbb{C}, t \in [a, b] \text{ and } k \geq 0.$$

We also observe that

$$\begin{aligned}
\left\| f_s^{(n+1)} \right\|_{[a,b], \infty} & := \sup_{t \in [a,b]} \left| f_s^{(n+1)}(t) \right| = |s|^{n+1} \sup_{t \in [a,b]} |e^{-st}| \\
& = |s|^{n+1} \sup_{t \in [a,b]} e^{-t \operatorname{Re} s} = |s|^{n+1} \times \begin{cases} e^{-a \operatorname{Re} s} & \text{if } \operatorname{Re} s \geq 0, \\ e^{-b \operatorname{Re} s} & \text{if } \operatorname{Re} s < 0. \end{cases}
\end{aligned}$$

To simplify the notations, we denote by

$$(4.3) \quad \beta_{[a,b]}(s) := \begin{cases} e^{-a \operatorname{Re} s} & \text{if } \operatorname{Re} s \geq 0, \\ e^{-b \operatorname{Re} s} & \text{if } \operatorname{Re} s < 0, \end{cases}$$

therefore we have

$$\left\| f_s^{(n+1)} \right\|_{[a,b], \infty} = |s|^{n+1} \beta_{[a,b]}(s)$$

for any $n \in \mathbb{N}$ a natural number and any complex number $s \in \mathbb{C}$.

Proposition 1. *With the above assumptions and notations we have the representation*

$$(4.4) \quad (\mathcal{L}_{[a,b]}g)(s) = \mathcal{S}_n(g, a, c, b)(s) + \mathcal{W}_n(g, a, c, b)(s)$$

for any $c \in [a, b]$, where $\mathcal{S}_n(g, a, c, b)$ is given by

$$(4.5) \quad \begin{aligned} \mathcal{S}_n(g, a, c, b)(s) &:= e^{-sb}g(b) - f(a)e^{-sa} \\ &\quad + \sum_{k=0}^{n-1} \frac{1}{k!} (-1)^k s^{k+1} e^{-sc} \int_a^b (\lambda - c)^k g(\lambda) d\lambda \end{aligned}$$

and the remainder has the form

$$(4.6) \quad \mathcal{W}_n(g, a, c, b)(s) := \frac{(-1)^k}{(n-1)!} \int_a^b \left(\int_c^\lambda (\lambda - t)^{n-1} s^{k+1} e^{-st} dt \right) g(\lambda) d\lambda,$$

where the integrals are taken in the Riemann sense, $n \in \mathbb{N}$, $n \geq 1$ and $s \in \mathbb{C}$.

The proof follows by Theorem 1 in which we have chosen $f_s(t) := e^{-st}$, $t \in [a, b]$, $s \in \mathbb{C}$, $u = g$ and performed the required calculations.

Utilizing Theorem 2 and Corollary 1 one can get various bounds for the remainder $\mathcal{W}_n(g, a, c, b)$. However, we will restrict ourselves by giving only two bounds as incorporated in the corollary below:

Corollary 2. *With the assumptions in Proposition 1 we have the following bounds for the remainder:*

$$(4.7) \quad \begin{aligned} |\mathcal{W}_n(g, a, c, b)(s)| &\leq \frac{1}{(n+1)!} |s|^{n+1} \beta_{[a,c]}(s) \|g\|_{[a,c],\infty} (c-a)^{n+1} \\ &\quad + \frac{1}{(n+1)!} |s|^{n+1} \beta_{[c,b]}(s) \|g\|_{[c,b],\infty} (b-c)^{n+1} \\ &\leq \frac{1}{(n+1)!} |s|^{n+1} \beta_{[a,b]}(s) \|g\|_{[a,b],\infty} [(c-a)^{n+1} + (b-c)^{n+1}] \end{aligned}$$

and

$$(4.8) \quad \begin{aligned} |\mathcal{W}_n(g, a, c, b)(s)| &\leq \frac{1}{n!} |s|^{n+1} \|g\|_{[a,c],1} \beta_{[a,c]}(s) (c-a)^n \\ &\quad + \frac{1}{n!} |s|^{n+1} \|g\|_{[c,b],1} \beta_{[c,b]}(s) (b-c)^n \\ &\leq \frac{1}{n!} |s|^{n+1} \|g\|_{[a,b],1} \beta_{[a,b]}(s) [(c-a)^n + (b-c)^n] \end{aligned}$$

for any $c \in [a, b]$, $n \in \mathbb{N}$, $n \geq 1$ and $s \in \mathbb{C}$.

The interested reader can obtain various representations for other *integral transforms* of interest such as the *finite Fourier-Stieltjes sine and cosine transforms* defined by

$$(4.9) \quad (\mathcal{F}_{s,[a,b]}g)(u) := \int_a^b \sin(ut) dg(t), \quad (\mathcal{F}_{c,[a,b]}g)(u) := \int_a^b \cos(ut) dg(t),$$

where a, b are real numbers with $a < b$, u is a real number and $g : [a, b] \rightarrow \mathbb{C}$ is a Riemann integrable function. However, the details are not presented here.

REFERENCES

- [1] T.M. APOSTOL, *Mathematical Analysis, Second Edition*, Adison-Wesley Publishing Company, 1975.
- [2] A.G. ANASTASSIOU, Univariate Ostrowski inequalities, revisited, *Monatsh. Math.*, **135**(3) (2002), 175–189.
- [3] A.G. ANASTASSIOU, Ostrowski type inequalities. *Proc. Amer. Math. Soc.* **123** (1995), no. 12, 3775–3781.
- [4] A. AGLIĆ-ALJINOVIĆ and J. PEČARIĆ, On some Ostrowski type inequalities via Montgomery identity and Taylor’s formula, *Tamkang J. Math.*, **36**(3) (2005), 199–218.
- [5] A. AGLIĆ-ALJINOVIĆ, J. PEČARIĆ and A. VUKELIĆ, On some Ostrowski type inequalities via Montgomery identity and Taylor’s formula II, *Tamkang J. Math.*, **36**(4) (2005), 279–301.
- [6] N.S. BARNETT, W.-S. CHEUNG, S.S. DRAGOMIR and A. Sofo, Ostrowski and trapezoid type inequalities for the Stieltjes integral with Lipschitzian integrands or integrators, *Computers and Mathematics with Applications* **57** (2009) 195–201.
- [7] N.S. BARNETT, P. CERONE and S.S. DRAGOMIR, Majorisation inequalities for Stieltjes integrals, *Applied Mathematics Letters* **22** (2009) 416–421.
- [8] N.S. BARNETT and S.S. DRAGOMIR, The Beesack–Darst–Pollard inequalities and approximations of the Riemann–Stieltjes integral, *Applied Mathematics Letters* **22** (2009) 58–63.
- [9] W.-S. CHEUNG and S.S. DRAGOMIR, Two Ostrowski type inequalities for the Stieltjes integral of monotonic functions, *Bull. Austral. Math. Soc.* **75** (2007), no. 2, 299–311.
- [10] P. CERONE, Approximate multidimensional integration through dimension reduction via the Ostrowski functional, *Nonlinear Funct. Anal. Appl.*, **8**(3) (2003), 313–333.
- [11] P. CERONE and S.S. DRAGOMIR, On some inequalities arising from Montgomery’s identity, *Journal of Computational Analysis and Applications*, **5**(4) (2003), 341–367.
- [12] P. CERONE and S.S. DRAGOMIR, New bounds for the three-point rule involving the Riemann–Stieltjes integral, in “*Advances in Statistics, Combinatorics and Related Areas*”, edited by C. Gulati *et al.*, World Sci. Publishing, 2002, 53–62.
- [13] P. CERONE and S.S. DRAGOMIR, Bounding the Čebyšev functional for the Riemann Stieltjes integral via a Beesack inequality and applications, *Computers and Mathematics with Applications* **58** (2009) 1247–1252.
- [14] P. CERONE and S.S. DRAGOMIR, Approximating the Riemann Stieltjes integral via some moments of the integrand, *Mathematical and Computer Modelling* **49** (2009) 242–248.
- [15] P. CERONE, W.-S. CHEUNG and S.S. DRAGOMIR, On Ostrowski type inequalities for Stieltjes integrals with absolutely continuous integrands and integrators of bounded variation, *Computers and Mathematics with Applications* **54** (2007) 183–191.
- [16] K. DIETHELM, A note on the midpoint rectangle formula for Riemann–Stieltjes integrals. *J. Stat. Comput. Simul.* **74** (2004), no. 12, 920–922.
- [17] S.S. DRAGOMIR, Ostrowski’s inequality for monotonous mappings and applications, *J. KSIAM*, **3** (1) (1999), 127–135.
- [18] S.S. DRAGOMIR, On the Ostrowski’s inequality for Riemann–Stieltjes integral, *Korean J. Appl. Math.*, **7** (2000), 477–485.
- [19] S.S. DRAGOMIR, Some inequalities for Riemann–Stieltjes integral and applications, in: A. Rubinov and B. Glover (eds.), *Optimization and Related Topics*, 197–235, Kluwer Academic Publishers, 2001.
- [20] S.S. DRAGOMIR, On the Ostrowski inequality for Riemann–Stieltjes integral $\int_a^b f(t)du(t)$ where f is of Hölder type and u is of bounded variation and applications, *J. KSIAM*, **5**(1) (2001), 35–45.
- [21] S.S. DRAGOMIR, Inequalities for Stieltjes integrals with convex integrators and applications, *Applied Mathematics Letters* **20** (2007) 123–130.
- [22] S.S. DRAGOMIR, Accurate approximations of the Riemann–Stieltjes integral with (l, L) -Lipschitzian integrators, *AIP Conf. Proc. 939, Numerical Anal. & Appl. Math.*, Ed. T.H. Simos *et al.*, pp. 686–690. Preprint *RGMIA Res. Rep. Coll.* **10**(2007), No. 3, Article 5. [Online <http://rgmia.vu.edu.au/v10n3.html>].
- [23] S.S. DRAGOMIR, Accurate approximations for the Riemann–Stieltjes integral via theory of inequalities. *J. Math. Inequal.* **3** (2009), no. 4, 663–681.

- [24] S.S. DRAGOMIR, Approximating the Riemann Stieltjes integral in terms of generalised trapezoidal rules, *Nonlinear Analysis* **71** (2009) e62 -e72.
- [25] S.S. DRAGOMIR, Approximating the Riemann–Stieltjes integral by a trapezoidal quadrature rule with applications, *Mathematical and Computer Modelling*, In Press, Corrected Proof, Available online 18 February 2011.
- [26] S.S. DRAGOMIR, C. BUŞE, M.V. BOLDEA and L. BRĂESCU, A generalisation of the trapezoidal rule for the Riemann-Stieltjes integral and applications, *Nonlinear Analysis Forum*, **6**(2)(2001), 337–351.
- [27] S.S. DRAGOMIR, P. CERONE, J. ROUMELIOTIS and S. WANG, A weighted version of Ostrowski inequality for mappings of Hölder type and applications in numerical analysis, *Bull. Math. Soc. Sc. Math. Roumanie* **42 (90)** (4) (1999), 301–314.
- [28] S.S. DRAGOMIR and I. FEDOTOV, An inequality of Grüss type for the Riemann-Stieltjes integral and applications for special means, *Tamkang J. Math.*, **29**(4) (1998), 287-292.
- [29] S.S. DRAGOMIR and I. FEDOTOV, A Grüss type inequality for mappings of bounded variation and applications to numerical analysis, *Nonlinear Funct. Anal. Appl.*, **6**(3) (2001), 425-433.
- [30] S.S. DRAGOMIR and Th.M. RASSIAS (Eds), *Ostrowski Type Inequalities and Applications in Numerical Integration*, Kluwer Academic Publishers, Dordrecht, 2002
- [31] S. DUBUC and F. TODOR, La règle du trapèze pour l'intégrale de Riemann-Stieltjes. I, II. (French) [The trapezoid formula for the Riemann-Stieltjes integral. I, II] *Ann. Sci. Math. Québec* **8** (1984), no. 2, 135–140, 141–153.
- [32] S. DUBUC and F. TODOR, La règle optimale du trapèze pour l'intégrale de Riemann-Stieltjes d'une fonction donnée. (French) [The optimal trapezoidal rule for the Riemann-Stieltjes integral of a given function] *C. R. Math. Rep. Acad. Sci. Canada* **9** (1987), no. 5, 213–218.
- [33] P. KUMAR, The Ostrowski type moment integral inequalities and moment-bounds for continuous random variables, *Comput. Math. Appl.* **49** (2005), no. 11–12, 1929-1940.
- [34] Z. LIU, Refinement of an inequality of Grüss type for Riemann-Stieltjes integral, *Soochow J. Math.*, **30**(4) (2004), 483-489.
- [35] P.R. MERCER, Hadamard's inequality and trapezoid rules for the Riemann-Stieltjes integral. *J. Math. Anal. Appl.* **344** (2008), no. 2, 921–926.
- [36] D.S. MITRINOVIĆ, J.E. PEČARIĆ and A.M. FINK, *Inequalities Involving Functions and Their Integrals and Derivatives*, Kluwer Academic Publishers, Dordrecht, 1991.
- [37] D. MOZYRSKA, E. PAWLUSZEWICZ and D. F. M. TORRES, The Riemann-Stieltjes integral on time scales. *Aust. J. Math. Anal. Appl.* **7** (2010), no. 1, Art. 10, 14 pp.
- [38] M. MUNTEANU, Quadrature formulas for the generalized Riemann-Stieltjes integral. *Bull. Braz. Math. Soc. (N.S.)* **38** (2007), no. 1, 39–50.
- [39] B.G. PACHPATTE, A note on Ostrowski like inequalities, *J. Inequal. Pure Appl. Math.*, **6**(4) (2005), Article 114, 4 pp.
- [40] B.G. PACHPATTE, A note on a trapezoid type integral inequality. *Bull. Greek Math. Soc.* **49** (2004), 85–90.
- [41] A. SOFO, Integral inequalities for N -times differentiable mappings, in “*Ostrowski Type Inequalities and Applications in Numerical Integration*”, Kluwer Acad. Publ., Dordrecht, 2002, 65–139.
- [42] M. TORTORELLA, Closed Newton-Cotes quadrature rules for Stieltjes integrals and numerical convolution of life distributions. *SIAM J. Sci. Statist. Comput.* **11** (1990), no. 4, 732–748.
- [43] N. UJEVIĆ, Sharp inequalities of Simpson type and Ostrowski type, *Comput. Math. Appl.*, **48**(1-2) (2004), 145–151.
- [44] N. UJEVIĆ, Error inequalities for a generalized trapezoid rule. *Appl. Math. Lett.* **19** (2006), no. 1, 32–37.
- [45] Q. WU and S. YANG, A note to Ujević's generalization of Ostrowski's inequality. *Appl. Math. Lett.* **18** (2005), no. 6, 657–665.

¹MATHEMATICS, SCHOOL OF ENGINEERING & SCIENCE, VICTORIA UNIVERSITY, PO BOX 14428, MELBOURNE CITY, MC 8001, AUSTRALIA.

E-mail address: Sever.Dragomir@vu.edu.au, Sever.Dragomir@wits.ac.za,
URL: <http://rgmia.org/dragomir/>

²SCHOOL OF COMPUTATIONAL & APPLIED MATHEMATICS, UNIVERSITY OF THE WITWATERSRAND, PRIVATE BAG-3, WITS-2050, JOHANNESBURG, SOUTH AFRICA.

E-mail address: `Charis.Harley@wits.ac.za`

E-mail address: `Ebrahim.Momoniati@wits.ac.za`